A website uses the formula above to calculate a
seller’s rating, R, based on the number of favorable
reviews, F, and unfavorable reviews, N. Which of
the following expresses the number of favorable
reviews in terms of the other variables?
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A radioactive substance decays at an annual rate of
13 percent. If the initial amount of the substance is
325 grams, which of the following functions f
models the remaining amount of the substance, in

grams, t years later? r)
@ £(t) = 325(0.87)' H f)(l -‘-
B) f(t) =325(0.13)

C) f(t)=0.87(325) 2325(.l "’.B)

D) f(t) =0.13(325)
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